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MNIEARS NESS MAEL S
A=A 27
MESEES: 1 A=y HEA I S4H| 790,0009 x1& = 790,000
S| HAHANEE -200,0008 = -200,000
fEtuntets inii=iin| Jminl SoRe:
mp= el ] 100,000¥ x 23| = 200,000
e 666,500 x 23| = 1,333,000
Henntzs oney
mE_ M -816,0008 = -816,000
EuSniEs ﬁ*ﬂgﬂEAmﬁj | e =y 100,000 x1H = 100,000
Sol2|gs StuARXAIHEE | 3 EXH| 173,000 x 13| = 173,000
PN = PN -1,000,000 = -1,000,000
PAINI= -1,140,000 = -1,140,000
rzEs NENHgs
2gH| 380,000 x53|= 1,900,000
ZHAH 3,000 x80%H = 240,000
FRVIEDNE | nzguns nSYsy| 80,0008 x13]= 80,000
ZHAHH -170,000 = -170,000
IHuS2Y sieletnnF IEEE7Y 350,0008x13|= 350,000
2|z -180,000 = -180,000
DSR2 W EAMZALOIZAH] | 100,000¥ x1H= 100,000
PN = PN -600,0008 =
styordng | g ki -600,000
Nag s -90,000¥ = -90,000
AFURRE 442,500 x8CH = 3,540,000
Aetued et Z2HESSE2Y -540,000 = -540,000
PN = PN -3000,000 = -3,000,000
mEsI 2V Il A=A I M AEZA O|Xt=2 1,500,000 x 13| = 1,500,000
IR Z 2 AHH| 50,0009 x23%| = 100,000
DEAM2E —
qUesE -100,000¥ = -100,000
27|22 NEHESEER 106,000 x 13| = 106,000
AN TE8H| AR 10,0009 x203|= 200,000
O x15H x 245
ZHY Q ZE OfH| 15,0008 x 15242 5,400,000
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§%9% A Ml HMated 297,0008x13|= 297,000
X EF X228 FH| 246,0009x13|= 246,000
Al e 89 SZ7|aX a9y -53,0008 = -53,000
HE37|7| 2|89 -12,000€l = -12,000
Ald YEkae| AMdAQZE O 358,0008x13|= 358,000
YA HaH| -750,000 = -750,000
AMEHEH38Y QA H| 610,0008Ix1H= 610,000
g A 8,972,000




